
= 1x = 1x = 2x = 4x = 4x

1

2

5PFW 4210

Max. 30 kg / 66 lbs

1x

3x

Mounting instructions
Montagevoorschrift
Instructions de montage
Montageanleitung
Guía de montaje
Istruzioni di montaggio
Instruções de montagem
Monteringsanvisning
Instrukcja montażu
Rekomendacii po ustanovke

4 4a TILT  
5˚- 10˚- 15˚

0˚

LOCK

3

85 mm

ø8
 m

m

4x M6x10

4x M6x20

4x M4x10

3x 4x8

4x M8x20

3x 4,5x60

4x M6x18x1,6

4x M6

MOUIN_PFW4210_V01


